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Expectations:

o) E Eigenvelues ore resl  ([H= Hf)

b) Eisenvalues > 0 (Vzo)

c) E:?envecrors hove definite pority ([TT}H] :0)
d) E:;je,vx volues cre discrete ( bounded motion)
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H= = g5 H =40+ X")
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Jow evi “y (desrrvcr ion) roising (Creation)
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proks Vv &GIR > =<QIN IgY = <plallp) = |clghl po
if V=0 +hen alsp) =0
[)raa,(_ O = <(}0[/V¢>" ICL99> ’5@,?> o
it vyo then N(alg))=-)(algr) ecigenvolue y-i
proof: Z/\/J al =z lo*a, o -’0."[05 al+lo),e]la= -

=S N al@y=0oNIgy-clgy=(v-1)alg,)

a’lg, > #o
proof: /a*lcpy>ll= Lglad'lgy = g l(We)lg ) ?o
N(dg>) = ) (a1E) becouse KQIN P p 3 0

Y is o non-nc‘]aﬁvc integer
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Noco @ (a"l?., )) i5 eigenvector of N eigenvalue - [ Lv-(n+1)<o
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Complex factor
(s) induction: if I(ﬁj) nonc!?_jme.m:l’e. then ‘%*:7 aly

Chech: 0,[?”"+,> = Ci/?n>
CaFonp = 0P
‘?n+l> - ———i CF > ﬁZZMM-PZGV‘
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